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b3=b20 [(mD1x+bD1)/y]
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a4 = a20 [(x−0,171)/y]
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a20 = 1,  b20 = −0,4
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A0 = (a0 − a0,n) Y18 (Y/Y18)1/3

B0 = (b0 − b0,n) Y18 (Y/Y18)1/3

a0 = a20 [x/y]
b0 = b20 [z/y]
a20 = 1,  b20 = −0,4

n = P40
50

53
69 73 38

34

19
14

BE251−3A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P40
chroma (A*1, B*1)

−40      40

A1

−40

 

 

 

40
B1

Xw=89,41, Yw=88,59, Zw=57,30
xw=0,3799 yw=0,3764
A1 = (a1 − a1,n) Y18 (Y/Y18)1/3

B1 = (b1 − b1,n) Y18 (Y/Y18)1/3

a1 = a20 [(x−0,171)/y]
b1 = b20 [z/y]
a20 = 1,  b20 = −0,4
mT1=1,000, bT1=0,171
n = P40

50

53
69 73 38

34

19
14

BE251−4A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P40
chroma (A*2, B*2)

−40      40

A2

−40

 

 

 

40
B2

Xw=89,41, Yw=88,59, Zw=57,30
xw=0,3799 yw=0,3764
A2 = (a2 − a2,n) Y18 (Y/Y18)1/3

B2 = (b2 − b2,n) Y18 (Y/Y18)1/3

a2 = a20 [(x−0,171)/y]
b2=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = P40 50

53
69 73 38

34

1914

BE251−5A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P40
chroma (A*3, B*3)

−40      40

A3

−40

 

 

 

40
B3

Xw=89,41, Yw=88,59, Zw=57,30
xw=0,3799 yw=0,3764
A3 = (a3 − a3,n) Y18 (Y/Y18)1/3

B3 = (b3 − b3,n) Y18 (Y/Y18)1/3

a3 = a20 [(x−0,171)/y]
b3=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = P40

50

53
69 73 38

34

19

14

BE251−6A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P40
chroma (A*4, B*4)

−40      40

A4

−40

 

 

 

40
B4

Xw=89,41, Yw=88,59, Zw=57,30
xw=0,3799 yw=0,3764
A4 = (a4 − a4,n) Y18 (Y/Y18)1/3

B4 = (b4 − b4,n) Y18 (Y/Y18)1/3

a4 = a20 [(x−0,171)/y]
b4=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = P40 50

53
69 73 38

34

1914

BE251−7A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P40
chroma (A*5, B*5)

−40      40

A5

−40

 

 

 

40
B5

Xw=89,41, Yw=88,59, Zw=57,30
xw=0,3799 yw=0,3764
A5 = (a5 − a5,n) Y18 (Y/Y18)1/3

B5 = (b5 − b5,n) Y18 (Y/Y18)1/3

a5 = a20 [(x−0,171)/y]
b5=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = P40

50

53
69 73 38

34

19

14

BE251−8A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P40
chroma (A*6, B*6)

−40      40

A6

−40

 

 

 

40
B6

Xw=89,41, Yw=88,59, Zw=57,30
xw=0,3799 yw=0,3764
A6 = (a6 − a6,n) Y18 (Y/Y18)1/3

B6 = (b6 − b6,n) Y18 (Y/Y18)1/3

a6 = a20 [x/y]
b6=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = P40

50

53
69 73 38

34

19

14



BE251−1A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P35
in the chromaticity diagram (x, y)

0,0 0,2 0,4 0,6 0,8 1,0
0,0

0,2

0,4

0,6

0,8

x

y

CIE 1931

400
450

475

490

495

500

505

510

515
520

525

550

575

600

625
700

495c,E
500c,E

510c,E
525c,E

550c,E
565c,E

TSSmBe

Mλ=Sλ

V’
Vλ=Sλ

Ge

Yλ=Bλ

Mm

Vm
Lm

Ye

Re

PL

DM

P35
49

5264

75

39

36

2413

BE251−2A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P35
chroma (A*0, B*0)

−40      40

A0

−40

 

 

 

40
B0

Xw=91,83, Yw=88,59, Zw=46,45
xw=0,4047 yw=0,3904
A0 = (a0 − a0,n) Y18 (Y/Y18)1/3

B0 = (b0 − b0,n) Y18 (Y/Y18)1/3

a0 = a20 [x/y]
b0 = b20 [z/y]
a20 = 1,  b20 = −0,4

n = P35
49

52
64 75 39

36

24

13

BE251−3A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P35
chroma (A*1, B*1)

−40      40

A1

−40

 

 

 

40
B1

Xw=91,83, Yw=88,59, Zw=46,45
xw=0,4047 yw=0,3904
A1 = (a1 − a1,n) Y18 (Y/Y18)1/3

B1 = (b1 − b1,n) Y18 (Y/Y18)1/3

a1 = a20 [(x−0,171)/y]
b1 = b20 [z/y]
a20 = 1,  b20 = −0,4
mT1=1,000, bT1=0,171
n = P35

49

52
64 75 39

36

24

13

BE251−4A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P35
chroma (A*2, B*2)

−40      40

A2

−40

 

 

 

40
B2

Xw=91,83, Yw=88,59, Zw=46,45
xw=0,4047 yw=0,3904
A2 = (a2 − a2,n) Y18 (Y/Y18)1/3

B2 = (b2 − b2,n) Y18 (Y/Y18)1/3

a2 = a20 [(x−0,171)/y]
b2=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = P35 49

52
64 75 39

36
2413

BE251−5A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P35
chroma (A*3, B*3)

−40      40

A3

−40

 

 

 

40
B3

Xw=91,83, Yw=88,59, Zw=46,45
xw=0,4047 yw=0,3904
A3 = (a3 − a3,n) Y18 (Y/Y18)1/3

B3 = (b3 − b3,n) Y18 (Y/Y18)1/3

a3 = a20 [(x−0,171)/y]
b3=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = P35

49

52
64 75 39

36
24

13

BE251−6A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P35
chroma (A*4, B*4)

−40      40

A4

−40

 

 

 

40
B4

Xw=91,83, Yw=88,59, Zw=46,45
xw=0,4047 yw=0,3904
A4 = (a4 − a4,n) Y18 (Y/Y18)1/3

B4 = (b4 − b4,n) Y18 (Y/Y18)1/3

a4 = a20 [(x−0,171)/y]
b4=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = P35 49

52
64 75 39

36
2413

BE251−7A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P35
chroma (A*5, B*5)

−40      40

A5

−40

 

 

 

40
B5

Xw=91,83, Yw=88,59, Zw=46,45
xw=0,4047 yw=0,3904
A5 = (a5 − a5,n) Y18 (Y/Y18)1/3

B5 = (b5 − b5,n) Y18 (Y/Y18)1/3

a5 = a20 [(x−0,171)/y]
b5=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = P35

49

52
64 75 39

36
24

13

BE251−8A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P35
chroma (A*6, B*6)

−40      40

A6

−40

 

 

 

40
B6

Xw=91,83, Yw=88,59, Zw=46,45
xw=0,4047 yw=0,3904
A6 = (a6 − a6,n) Y18 (Y/Y18)1/3

B6 = (b6 − b6,n) Y18 (Y/Y18)1/3

a6 = a20 [x/y]
b6=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = P35

49

52
64 75 39

36
24

13



BE251−1A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P30
in the chromaticity diagram (x, y)

0,0 0,2 0,4 0,6 0,8 1,0
0,0

0,2

0,4

0,6

0,8

x

y

CIE 1931

400
450

475

490

495

500

505

510

515
520

525

550

575

600

625
700

495c,E
500c,E

510c,E
525c,E

550c,E
565c,E

TSSmBe

Mλ=Sλ

V’
Vλ=Sλ

Ge

Yλ=Bλ

Mm

Vm
Lm

Ye

Re

PL

DM

P30
48

51
59

77

39

37

2911

BE251−2A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P30
chroma (A*0, B*0)

−40      40

A0

−40

 

 

 

40
B0

Xw=95,71, Yw=88,59, Zw=35,03
xw=0,4363 yw=0,4038
A0 = (a0 − a0,n) Y18 (Y/Y18)1/3

B0 = (b0 − b0,n) Y18 (Y/Y18)1/3

a0 = a20 [x/y]
b0 = b20 [z/y]
a20 = 1,  b20 = −0,4

n = P30
48

51
59 77 39

37
29

11

BE251−3A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P30
chroma (A*1, B*1)

−40      40

A1

−40

 

 

 

40
B1

Xw=95,71, Yw=88,59, Zw=35,03
xw=0,4363 yw=0,4038
A1 = (a1 − a1,n) Y18 (Y/Y18)1/3

B1 = (b1 − b1,n) Y18 (Y/Y18)1/3

a1 = a20 [(x−0,171)/y]
b1 = b20 [z/y]
a20 = 1,  b20 = −0,4
mT1=1,000, bT1=0,171
n = P30

48

51
59 77 39

37
29

11

BE251−4A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P30
chroma (A*2, B*2)

−40      40

A2

−40

 

 

 

40
B2

Xw=95,71, Yw=88,59, Zw=35,03
xw=0,4363 yw=0,4038
A2 = (a2 − a2,n) Y18 (Y/Y18)1/3

B2 = (b2 − b2,n) Y18 (Y/Y18)1/3

a2 = a20 [(x−0,171)/y]
b2=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = P30 48

51
59 77 39

37
2911

BE251−5A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P30
chroma (A*3, B*3)

−40      40

A3

−40

 

 

 

40
B3

Xw=95,71, Yw=88,59, Zw=35,03
xw=0,4363 yw=0,4038
A3 = (a3 − a3,n) Y18 (Y/Y18)1/3

B3 = (b3 − b3,n) Y18 (Y/Y18)1/3

a3 = a20 [(x−0,171)/y]
b3=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = P30

48

51
59 77 39

37
29

11

BE251−6A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P30
chroma (A*4, B*4)

−40      40

A4

−40

 

 

 

40
B4

Xw=95,71, Yw=88,59, Zw=35,03
xw=0,4363 yw=0,4038
A4 = (a4 − a4,n) Y18 (Y/Y18)1/3

B4 = (b4 − b4,n) Y18 (Y/Y18)1/3

a4 = a20 [(x−0,171)/y]
b4=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = P30 48

51
59 77 39

37
2911

BE251−7A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P30
chroma (A*5, B*5)

−40      40

A5

−40

 

 

 

40
B5

Xw=95,71, Yw=88,59, Zw=35,03
xw=0,4363 yw=0,4038
A5 = (a5 − a5,n) Y18 (Y/Y18)1/3

B5 = (b5 − b5,n) Y18 (Y/Y18)1/3

a5 = a20 [(x−0,171)/y]
b5=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = P30

48

51
59 77 39

37
29

11

BE251−8A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P30
chroma (A*6, B*6)

−40      40

A6

−40

 

 

 

40
B6

Xw=95,71, Yw=88,59, Zw=35,03
xw=0,4363 yw=0,4038
A6 = (a6 − a6,n) Y18 (Y/Y18)1/3

B6 = (b6 − b6,n) Y18 (Y/Y18)1/3

a6 = a20 [x/y]
b6=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = P30

48

51
59 77 39

37
29

11



BE251−1A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P25
in the chromaticity diagram (x, y)

0,0 0,2 0,4 0,6 0,8 1,0
0,0

0,2

0,4

0,6

0,8

x

y

CIE 1931

400
450

475

490

495

500

505

510

515
520

525

550

575

600

625
700

495c,E
500c,E

510c,E
525c,E

550c,E
565c,E

TSSmBe

Mλ=Sλ

V’
Vλ=Sλ

Ge

Yλ=Bλ

Mm

Vm
Lm

Ye

Re

PL

DM

P25

47

4854

81

41

39
34
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BE251−2A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P25
chroma (A*0, B*0)

−40      40

A0

−40

 

 

 

40
B0

Xw=102,04, Yw=88,59, Zw=23,56
xw=0,4764 yw=0,4136
A0 = (a0 − a0,n) Y18 (Y/Y18)1/3

B0 = (b0 − b0,n) Y18 (Y/Y18)1/3

a0 = a20 [x/y]
b0 = b20 [z/y]
a20 = 1,  b20 = −0,4

n = P25
47

48
54 81 41

39
34

7

BE251−3A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P25
chroma (A*1, B*1)

−40      40

A1

−40

 

 

 

40
B1

Xw=102,04, Yw=88,59, Zw=23,56
xw=0,4764 yw=0,4136
A1 = (a1 − a1,n) Y18 (Y/Y18)1/3

B1 = (b1 − b1,n) Y18 (Y/Y18)1/3

a1 = a20 [(x−0,171)/y]
b1 = b20 [z/y]
a20 = 1,  b20 = −0,4
mT1=1,000, bT1=0,171
n = P25

47

48
54 81 41

39
34

7

BE251−4A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P25
chroma (A*2, B*2)

−40      40

A2

−40

 

 

 

40
B2

Xw=102,04, Yw=88,59, Zw=23,56
xw=0,4764 yw=0,4136
A2 = (a2 − a2,n) Y18 (Y/Y18)1/3

B2 = (b2 − b2,n) Y18 (Y/Y18)1/3

a2 = a20 [(x−0,171)/y]
b2=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = P25 47

48
54 81 41

39
347

BE251−5A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P25
chroma (A*3, B*3)

−40      40

A3

−40

 

 

 

40
B3

Xw=102,04, Yw=88,59, Zw=23,56
xw=0,4764 yw=0,4136
A3 = (a3 − a3,n) Y18 (Y/Y18)1/3

B3 = (b3 − b3,n) Y18 (Y/Y18)1/3

a3 = a20 [(x−0,171)/y]
b3=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = P25

47

48
54 81 41

39
34

7

BE251−6A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P25
chroma (A*4, B*4)

−40      40

A4

−40

 

 

 

40
B4

Xw=102,04, Yw=88,59, Zw=23,56
xw=0,4764 yw=0,4136
A4 = (a4 − a4,n) Y18 (Y/Y18)1/3

B4 = (b4 − b4,n) Y18 (Y/Y18)1/3

a4 = a20 [(x−0,171)/y]
b4=b20 [(mP1x+bP1)/y]
a20 = 1,  b20 = −0,4
mP1=−0,169, bP1=0,389
n = P25 47

48
54 81 41

39
347

BE251−7A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P25
chroma (A*5, B*5)

−40      40

A5

−40

 

 

 

40
B5

Xw=102,04, Yw=88,59, Zw=23,56
xw=0,4764 yw=0,4136
A5 = (a5 − a5,n) Y18 (Y/Y18)1/3

B5 = (b5 − b5,n) Y18 (Y/Y18)1/3

a5 = a20 [(x−0,171)/y]
b5=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = P25

47

48
54 81 41

39
34

7

BE251−8A_1

Ostwald colours (o), YW=88,6
max (m) chromatic value, P25
chroma (A*6, B*6)

−40      40

A6

−40

 

 

 

40
B6

Xw=102,04, Yw=88,59, Zw=23,56
xw=0,4764 yw=0,4136
A6 = (a6 − a6,n) Y18 (Y/Y18)1/3

B6 = (b6 − b6,n) Y18 (Y/Y18)1/3

a6 = a20 [x/y]
b6=b20 [(mD1x+bD1)/y]
a20 = 1,  b20 = −0,4
mD1=−0,974, bD1=0,658
n = P25

47

48
54 81 41

39
34

7


